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ANSWER ALL QUESTIONS
PART-A (10%2=20 marks)
What is a finite automation? Give two examples.

Give regular set for the following expression: 1(01)*(10)*1

Let G be the-grammar S->aB/bA, A->a/aS/bAA,

B->b/bS/aBB for the string aaabbabbba find the left most
derivation.

What is meant by empty production removal in PDA?
Define Turing Machine.

What is the class of language for which the TM has both
accepting and rejecting configuration? Can this be called a
Context free Language?

What is undecidability?

Differentiate  between recursive and  recursively
enumerable languages.

What is mean by succinet certificates?




[image: image2.png]11.

12.

13.

Define the class P.
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PART-B (6%16=80 marks)

() Prove the equivalence of NFA and DFA.

(i} Prove that a balanced parenthesis is not
a regular language.

Or

Construct a finite automation that accepts the
set of all strings in {a,b,c}* such that the last
symbol in input string appears earlier in the
string.

(1) Give a detailed description of ambiguity
in Context free grammar.

(i) Convert the grammar S->ABb | a,
A->aaA| B, B->bAb into Greibach normal
form. .

Or

Construct a CFG accepting L={a ™ b »/ n < m}
and construct a P accepting L by empty store.

Design a deterministic Turing Machine to
accept the language L={ab'c/i>0)

Or

Prove that the language L is recognized by a
Turing Machine with a two way infinite tape if
and only if it is recognized by a Turing
Machine with a one way infinite tape.
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Show that there exists a TM for which the
halting problem is unsolvable.

Or

Define the universal language and show that it
is recursively enumerable but not recursive.

Explain in details about Knapsack decision
problem using Non-deterministic
polynomial algorithm.

Or
(i) Differentiate the P vs. NP problems.

(ii) Differentiate the Euler tour vs.
Hamiltonian cycle.
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